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QUESTION 1

Refer to the exhibit. Which lines represent an I/O connection running at a 20ms RPI? 

A. 2919, 2923, 2926 

B. 2920, 2926, 2929 

C. 2922, 2929, 2935 

D. 2914, 2915, 2916 

Correct Answer: A 

 

 

QUESTION 2

It is common to use Resilient Ethernet Protocol (REP) on the manufacturing floor as a resiliency protocol, as opposed to
the Enterprise where it is not generally deployed. What are two reasons why REP is more suitable for the plant floor?
(Choose two) 

A. REP is only supported on Industrial Ethernet switches, it is not supported on Catalyst switches. 

200-601 PDF Dumps | 200-601 Exam Questions | 200-601 Braindumps                                2 / 5

https://www.passapply.com/200-601.html
https://www.passapply.com/200-601.html
https://www.passapply.com/200-601.html


https://www.passapply.com/200-601.html
2021 Latest passapply 200-601 PDF and VCE dumps Download

B. REP converges faster than Spanning Tree, allowing for greater network availability. 

C. REP supports Industrial Ethernet protocols better because it moves the packets faster. 

D. Running dual cables from access switches to an aggregation switch can have a much higher cost on the plant floor
than in the Enterprise and running a ring protocol like REP provides resiliency at a lower cost. 

E. Industrial protocols can be negatively impacted by the number of nodes the Ethernet frame traverses, REP provides
a topology with no more than 3 nodes for any data path. 

Correct Answer: BD 

 

QUESTION 3

Which configuration enables an Industrial Ethernet switch to participate in PTP clock selection and sets the priority value
that would break the tie between switches with matching default criteria to 50? 

A. ptp mode boundary ptp priority1 10 ptp priority2 50 

B. ptp mode boundary ptp priority1 50 ptp priority2 10 

C. ptp mode e2etransparent ptp priority1 50 ptp priority2 10 

D. ptp mode e2etransparent ptp priority1 10 ptp priority2 50 

Correct Answer: A 

 

QUESTION 4

A ProfiNET management system operator is unable to add a ProfiNET Conformance Class B device to a SIMATIC
management station. The device is connected to interface FastEthernet1/3. Based on the provided CLI output, which
statement is correct? 

switch#show profinet lldp Fa1/1 port-003-00000 On Fa1/2 port-004-00000 On Fa1/3 port-005-00000 Off Fa1/4
port-006-00000 Off Fa1/5 port-007-00000 On Fa1/6 port-008-00000 Off Fa1/7 port-009-00000 On Fa1/8 port-010-00000
Off 

A. LLDP has been disabled on this switch 

B. The connected device is not sending LLDP packets with ProfiNET extensions 

C. The port label needs to be changed on interface FastEthernet 1/3 to "port-003-00000" 

D. ProfiNET is disabled on this switch 

Correct Answer: B 

 

 

QUESTION 5
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You have been tasked to design an Ethernet network capable of Motion control with cycle times not to exceed 1ms. In
order to create a more deterministic network, what characteristic/s should you primarily focus on? 

A. Lattency and Jitter 

B. Redundancy and high availability 

C. Explicit and Implicit messaging 

D. This cycle time is not possible on an Ethernet network 

E. Gigabit port speed 

Correct Answer: A 
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